Takase

Lesson 7: Te-form + WX T

The sentence pattern “Te-form + U FE 97 expresses:

(1) An action in progress (ongoing action)
(2) Repeated activities
(3) Continuous state (the resulting state)

(1) An action in progress (on-going action)

Examples: A7 U—ZAlL, 4, TLVEZRTWHET,
Mary is watching TV right now.

EDOIDODTIT=RTA, ATV —SlIAE L5 LTnE L,
At around 3:00 p.m. yesterday, Mary was studying.

% NOTE %
This sentence pattern, “Te-form + V»E 97, does NOT indicate an action in the future. It only
expresses an action that someone is currently doing or was doing (but NOT “will be doing™).

So, if you are to answer the question = AUlL A, 7212 % L £ 77>, which asks about your
tonight’s (=future) plan, which response is appropriate?

A TLEZRTHET, or
B. 7L EZRET,

“I will be watching TV.” = {present or future?} -

“Are you going to Japan in June?” = {present or future?} >

Please keep in mind that English ~ing is NOT equivalent to “te-form + \» ¥ 3°”.

(2) Repeated activities

The Te-form + VM E 9" is also used to express a habitual action, one that takes place
repeatedly such as taking a class, working part-time or full-time and studying kanji regularly.

Examples:  FAMET VA &2 L TWET,  Iwork part-time.
FUEITNANRA "2 LET, 1 will work part-time. (in the future)

NELDY T A% L o> TWET, I'mtaking a history class.
NELDI 7 A%2L D E£T, I’ll take a history class. (in the future)

The question [721Z% L CVWWE 97>, | means “What are you doing (right now)?” or
“What do you do (for living)? [as a repeated activity]” depending on the contexts.
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(3) Continuous state (the resulting state)

The Te-form + VM 7 is also used to describe a current state resulting from a past action.

For example, %LD % means to come to know something (to gain some knowledge), and %LD 27T
% 7" means that you have come to know something and you are still in that state. Similarly,
7> Z A4 % means to get married, which happens once, and 17> Z A L TV Y% 9§ means
that one is married (because the person is in that state resulting from having gotten married).

Other verbs of this type:

1.5 5 /T 5,/ %% ,/1E< (toputon) 2 M5 T/ T T/ ETAIWVWTHWET

(wear/is wearing ~)

2. 5 & % (to gain weight) SEVFELE 2B 5 &S5 TWET (is overweight)
5 (to lose weight) REELE D> @GP TWET (is thin)

3. Ownership ~% H o> TWET (own/have ~) cf. N% D ET

4. Residence ~IZFT A TUWET (live in ~ = continuous state) ITe (= will live)

5. ~1Z2 L TUWET (work for ~ = continuous state) D& 8D (= will work for ~)

Negative forms: B e e R s e :

- : . i Y Exception
F o> Z A LTWEYR A (is not married.) . )
~% b o> TUNEH A (don’t have/own ~.) Negative form of L > TWE § 1sIL; ) ’ikﬁ‘/u
~%Z 5o TUVWER A (is not wearing ~.) (I don’t know.)

LETVHRRA (is not thin.) Lo CTlagH-4-is ungrammatical and NEVER

 used. (WRONG!)

% NOTE%

You CAN NOT use motion verbs such as 17 <, < %, and 7>% % in the Te-form + \ E 7"
construction to express that someone is going/coming/returning (on the way to a place). When these
motion verbs appear in this construction, it describes a current state resulting from the movement.

Examples:

FHIA—/"—1Z1T > TV E T, € It doesn’t mean that your mom is on the way to the supermarket.
(My mother has gone to the supermarket and she is still there now.)

EHLTELNETWET, (My friend came and is still here now.) < It doesn’t mean he is coming.




IVERY IMPORTANT!|

Be able to explain the differences! Translate the following into English.

HPE AT >Z A LET,
HPSAIET>ZALTWETS,
AP ST ZALE LK,

HPSAIFT>ZALTWVWE L,

O & B ST ET,
O EHITREE LT,
O & B S FRETVET,

O EHBIFRETVE L,

Write the following in Japanese.
I know that person (over there).
I knew this song.

I don’t know that person’s name.

I didn’t know Japanese Language (when I was a child).

N2 2NN ZR 2
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